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X=T(_IE)[P]
Y =T(IY[Q]
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where P = Im(--)
where Q = ?m(x). ||x=-||=2. R
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X = T T(L)[X] + T.T(L)[X] + T.T(LY[X] + le(+) X
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Orth = !c(+-). (M90(7/6)[Orth] | MOO(-7t/6)[Orth])
M90(8) = RIM(8)[1,].7/2)oM(6)
M(8) = Sc(¥2)R(1,,0)°T(I,)
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Force = (?f(x.p). !x(M{p}))*
Object = (vx) !f(x.+). 2x(Y). Y[Object]

f 1s the force field channel; M{p} 1s a map
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A uniform field (*wind’):

A linear attractive field at q (“spring”):
An inverse-square repulsive field at q (“charge™):

Mip} =T(I,)

M{p} = T(*(q-p))
Mip} = T{(p-q)|lp=q]|?)
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Data terms

Action terms

o= 2.x(x7) b Ix(A) P A=A
P:=0:xnP:P+P : PIP : (vx)P : P* : M[P] Process terms
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(Red Comm) Aqgoe = xX(MPHP 11 x(viO+Q 4~ PlO|yv\e}
(Red Cmp) A A > A AP a0 F
(Red Par) P4—>Q = PIR 4,—» QIR \ $ $
(Red Res) P 4—Q = (VX)P 42— (vx)Q
(Red =) P=P, Pa>Q, 0=0Q"=P 450Q S S
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(= Act) P=P = nP=nP (=ParComm) PIQ=QIP

(= Sum) P=P.Q0=Q = P+Q=P+Q’ (=Par Assoc) (PIQ)IR=PI(QIR)

(= Par) P=P.Q=Q = PIQ=P1Q (= Par Zero) PlO=P

= Res P=P X)P= P’

(_ £ = % u:{i ‘:t:(vx} (= Res Zero) (vx)0=0

(= Repl) P=P" = Pr=P" (= Res Sum) (vX)(P+Q) = P+(vx)Q

(= Map) P=P — M|P]|1=M|P] ; (xe fi(P))

(= Map Cmp) MI[A=A".P] =M[A|=cM[A | M[P] (=Res Par) (vX)P1Q)=P1(vx)Q

(=Map Out) M[!x(A).P] = !x(M[A]).M]|P] (xg fr.(P))

(= Map In) M[?:x(y).P] = 1:x(y).M|P] (= Res Res) (VX)(VY)P = (vy)(vx)P
e ve(M)) (=Repl Zero)  0%=0

(= Map Sum) M[P+Q]= M[P]+M|Q] (= Repl Par) (P1Q)* = P* | Q*

(=MapPar) MIPIQ]= MJ[P]IM[Q] (= Repl Copy) P*=P|P*

(=Map Res) M](vx)P] = (vx)M[P] (= Repl Repl) P = p+

I(E Map Comp) MIN[P]] = (MecM[N))[P]
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